ERRAROHRBERT—I—ZBISH—F
TS VE B USHR3mE

2022611858 () 15E{EE1H
‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

[AE%] 17%:1,000,000  ~ 237&:320,000H  37%&:180,000F ~ 43:120,000 @ 5 & :80,000 F

ABIC OV TRUTEREERRODDZE. THRIIZEL.

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o IS : -7-6- - DB (1£8)
gl NFaN—7 it 4 s 1.(3_4).5 7-7-6-5 | 40.0 1 (4_624; EE#& =
RIR—HANR BYALUYRAIYIRY YAV TT—L
= 8 4 | ISR 1:34.8 1-1-1-1 [ 41.4] — 5 483 | WWEEA (EH)
2 3| FOBAF2ZRD 54.0 a1/ 3 |FHEZE
R:IVA—=T B:RIAARTY HRBUS
3 4t 5 | WTEE 1:35.1 10-11-8-8 | 40.5| -— 10 | 491 |NABEX (EB)
3l8l10| YTIVET A 5.0 a1/ © ﬁﬂPg
RINT—E1—X B:O9IAF X IINRIS
S v 5 | REEY 1:35.2 5-5-5-4 | 40.9| - 3 487 | HEBEF (£2)
4|78 0—FI>—Y2 56.0 %) 1) |FEE—
R:O0—RH7+07 &:LF4)—Ta TATAT7—L
. FILRE 1:35. -9-10-7 | 40. - 7 447 | HEHBEF (£E)
1 > PIACAY P o3| e (13,52)3 907405 @) | EEE .
R:hE—XO—F— BIEY—RUFo— IRET7— L
<, = HKIBA : -10-11- - SENE (K8
g 4| RAVFIRI— 4 6 s 1.(325).7 11-10-11-9 | 40.7 9 (5:)41) mz@szé
R:T=ILRZUa—)b B:F3VI7PIFTSR e
= N < EE : -4-3- - TFURE (L8
71111 | TAZLFENAEY 3 T8 1(93?:? AR R ! f;) T’IE*& W
RIRITIATAwIDFUT— B:FAILARVYY T4 TLBS
— = 4 | HoiE 1:35.8 6-6-7-6 | 41.3| — 2 445 | BH—X (EH)
8 7|=RY—=935 /7 " 56.0 o) © S5507 - TRIAYE W)
RiATT—RVRIT—k B:FIWAUTFo—L BB 28R
—3 s 6 | NIEAER 1:36.1 2-2-2-2 | 42.5| - 8 | 470 | KBEEK (EE)
9|55 =Y /7Y %53.0 a0 o |mEEE
R:F4—=FITUSYF B:Zy /DY Gl e
~, s 4 | BlER 1:37.0 8-8-9-10 |42.2| — 6 466 | EOEX (EH)
10179 | F¥IHBU 54.0 ) #17) | RART
R:ibE—RD—F— B:Ea1-—F«,—U3 4 IE
— — [N[zEE:5 : —3-4- - LIE®E (&
1 6| FEYRR—LFL 3 | WEEsR 1.(357).9 3-3-4-11 | 44.0 1 (4+497) lgmﬁ?;( )
R:7ZRIAVPIWIR 8:7URIYRO-X HET7—L
@ 1—F—&RIEL
13—7— 3,5,6,1,8,7,11,9,2,10,4
20— — 3,5,6,1,8,7,11,9,2,4,10
30—7— 3,5,1,6,8,11,7,10,9,2,4
40— — 3,5.1.8,11,7.2,10,4,9.6
o ILRE
BB 1 340M4 JA R 3-1 2804 e B 3-8 1,000 3EE 3-10-1 17,6003
B B 1 1509 10-11 2,650M 5 & 3-1 960M 3EH 11-3-10 60,750
3 180M 3-10 4,000 Ba 1-3 2,050H
10 800




